5.10. o220

= 185/132
E 03 |Ssesaksizkem | Vo 14 950 K& | 16 352 K&
obé podrucky (3F) H 90
185/132
3-sedak,podrucka $185
- 24 vpravo, s lizkem V 100 10 327 K& | 10 997 K&
(3F) H 90
3-sedék—p?cviruéka 1251/ 1822
25 | vievo.slEem | v 100 10 327 K& | 10 997 K&
H 90
- 185/132
lsliicti==l 3-sedak, bez S 160
e | 26 podrugek, s l0zkem V 100 9607 K& | 10231 K&
= (3F) H 90
gi $ 80
s 27 Otoman (P) V 100 5687 KE | 6056 K¢
= H 180
$80
— 28 Otoman (L) V 100 5687 K& | 6056 K&
== H 180
Wy 29 Rohovy dil S 90
1 y V 100 3696 KE | 3935Ke
= o H 90
Bm/latky 30 Latka 100 x 140 431 K& 503 K¢
Typ ¢: 28+24 =|OTTO+3F 0 K¢ 16 014 K¢ | 17 053 K¢
Typ ¢: 28+24+11 =|OTTO+3F+1 0 Ké 21 352 K¢ | 22 737 K¢
Typ ¢: 25+29+16 =|3F+E+28 0 K¢ 19 361 K¢ | 20 616 K¢
Typ ¢: 25+29+16+11 =|3F+E+2S+1 0 K¢ 24 699 K¢ | 26 300 K¢
Typ ¢: 28+26+29+16 =|OTTO+3F+E+2S 0 K¢ 24 328 K¢ | 25 906 K¢
Typ ¢: 28+26+29+16+11 =[lOTTO+3F+E+2S+1 0 K¢ 29 666 K¢ | 31 590 K¢
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